48148 (H) [%2H]
E B [Hh| | FE K 4 RAR2A L SwTRA L ISSG|NR| %
11 | /6| kKF &FFE |2/17] 32.50 16.03 32.89 JMA | 10
12 [ h1 | &® HDOZ 48.57 1.06.79 | (15.68) | (33.90)
200mM/Rf = = T e Tk DR 12131 | 13813 | (1452) | (31.34)
12 |1 | kE HE 152.07 | 2.06.88 | (13.94) | (28.75)
10 |/h5| WLAR {68 |4/22] 31961 | 39.44 12800 | 22190 | 30454 | - | 7
10 |/h5| AB #h [3/10| 25922 | 3886 | 1.2421 | 21945 | 3.0024 | TAD| 7
—_—re 10 | /5| K LB 3379 | 1.18.76 | 2.09.84 | 24463 | TAB | 10
12 |th1| &8 %> |3/3|(24495)| 3375 | 11752 | 15991 | 23736 | - | 9
12 | 1| 5k A £% [10/28 2.34.16 | 32.31 11235 | 15777 | 23117 | JBA| 9
14 | h3| ;AI@ FAE |2/17| 2.23.86 | 31.41 11037 | 15411 | 22665 | JBA| 9
12 |ch1| @A =% [1/13| 1.1165| 16.16 34.09 53.00 11167 | - | 8
|12 b1 | BER &F|2/3[ 11032 | 1547 32.97 51.56 11060 | - | 9
F— 13 | 2| FH %E |2/17) 11470 | 16.25 35.48 55.45 11599 | - | 6
12 |d1| &1 8% | 2/3] 11162 | 1548 33.49 52.80 11137 - |7
Bl13|h2| EB B [(2/3|1.1877| 1630 36.00 58.15 12476 | - | —
13 |h2 |BTE# FH:A 14.76 31.85 51.09 1.10.76 - |6
11 | /6| 5k5F &FZE |2/17] 1.12.50 35.10 1.11.85 | JBA | 10
— | 14 | 2| MR FHE |11/3] 1.12.21 36.29 11459 | - | 6
14 | th3 | #&#EF UM5B|4/15| 1.1486 35.71 11627 | - | 5
B |14 |h3| &R IHR | 2/3| 10548 | 15.82 32.48 5025 | 10687 | - | 7
g 12 | b1 | &S $»22|7/15| 1.1533 [ 16.41 35.42 5487 | 1.14.44 [ UMA| 11| Joc
{00rrER 14 | 3| &1 ZF0 [2/17| 11268 | 1550 34.65 53.47 1.13.08 [ JMA | 10
P 14 | h3| 4B FIE 34.95 11494 | - | 7
16 | &2 | BT ZEABA |11/4] 10727 | 14.88 3215 4978 | 10822 | - | 8
9 |/Na| BKE #53 |2/17] 13014 [ 19.19 40.75 10441 | 12682 | - | 5
9 |/ha| FE T |2/17| 12752 | 20.30 43.99 10822 | 13145 | - | 4
9 |/ha|FN E&|2/17| 1.31.20 | 1875 40.89 10547 | 12880 | - | 5
9 | /4|l FikFE|2/17) 1.26.26 | 17.81 38.95 10105 | 12326 | - | 6
10 | /PS5 Al F2 | 9/2] 11832 | 16.23 36.16 56.02 1.16.30 | TAD | 7
10 | /N5 | £18 A% | 3/3|(1.18.23)] 16.52 35.59 54.41 1.1383 | TAC| 8
5 11 | /6 |BTEE BEFE|1/13] 1.0690 [ 14.78 31.62 4931 10760 | TAB| 9
11 [/h6| K5F &HFHE [ 3/3((1.06.55)| 14.39 31.52 48.24 10537 | JBA| 9
12 |h1 | 5k@E % |1/13| 1.02.28 | 14.03 30.26 46.53 1.02.88 | JBA | 10
12 | th1 | 8@ (08 [1/13] 1.0531 | 14.72 31.70 4855 | 10673 | - | 8
13 |h2| && B#|2/2| 10149 | 1368 29.78 4572 1.0276 | JBA | 9
100mFR 13 |th2 | flF HZ [1/13] 10474 | 1444 31.48 4844 | 10576 | - | 8
13 |h2| FH %E |7/15| 1.0829 | 1528 33.26 51.22 10919 [ - | 6
14 | 2| /NR FHE |11/4| 1.06.16 | 1456 30.85 48.05 10545 | - | 7
8 |/h\3| BX & 18.43 39.99 10217 | 12398 | TAD| 9
8 |/N\3| &Hf &R |2/17] 1.28.27 40.26 12471 | TAD| 8
10 | /N5 | @& H%F |2/17]| 1.22.01 38.83 12116 | - | 5
11 |/h6|ME MEA 32.66 1.0853 | TAC| 8
S| 11 |[/h6|BHEX X |3/10] 1.19.50 38.03 12066 | - | 3
11 |/h6| A KE [3/10] 1.21.60 37.05 1.17.61 - | 4
12 |sh1| BR &2 |2/17) 1.07.71 | 15.72 32.18 49.26 10625 | - | 7
13 | h2 |ETE# #i#|2/17| 10162 | 1356 28.86 44.72 10057 | - | 8
15 |&1| W& %X |7/15| 56.03 11.34 25.94 39.06 5437 | JMA| 9




